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They hate his arrogant attitude towards his
classmates.
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She’s not very optimistic about the outcome of the
talks.

(D corrective (@ harsh

(3 sanguine @ redundant
LIOIE : & ZHEY : Sl
[aHd] H EH®

optimistic2 ““#=00 0]2k= £2
(2p=ol)o|Ct

g i)

F9|0{= @ sanguine

Bl
= 11 2|2 Zajol tia B2 H2HH0[A] RS,
[01=]]

corective +9|, WH9| HIZF=
harsh ‘=5t 7t=5t
redundant 04=2|, 2ICtsH Zatst S Qs

=2

J

ol

mﬂ
e

JERIETN st st 327

O |2 A,
She’s very , always smiling and saying nice
things.
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(@multiple @ inadequate
LIOIE & EHEY 0=
[6H&] H E®
HIZEFol| 247 23 E=SH| ojop (Bt L8s e
off = O 27l SATHAE @ gregarous(Afm A Q1 .:l =
Z0fsh=)0|Ct.
[oHAd]
&= 09 A Zo| 2 ghat R O FI& sk Leict

3]
watchful ZAAHZ, T2 42
multiple H==2)

inadequate =& =&, F58 FEYet

UE 7 R0 SO 2R J4E X HE?

We should listen to the economists’ advice on how
to mflation.
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In the normal run of things the only exercise he
gets is climbing in and out of taxis.
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— We watched their ship to move gradually farther
away.
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— I haven’t eaten since breakfast.
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— Nobody knows what will happen next.
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— We had hardly sat down to supper when the phone

rang.
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— There was a rumor that she was going to resign.
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— Writing the dreams down help solidify them in your
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— On closer examination the painting proved to be a
fake.
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— The researcher says it was used as a place to worship.
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DIl think of you
week.

when I stay at the hotel next

(@1 was sure of his passing the exam.
(3 The bread and butter on the table are my
breakfast.

@1 will explain to you what this means.
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